Fast 5

45854 - 5463 78523 + 58684
20% of 400

/56 x 48 12x9



Fast 5

45854 - 5463 = 40391 78523 + 58684 = 137207
20% of 400 = 80

756 x 48 = 36288 12x9 =108



Can | multiply by numbers
with decimal places?



We know that when we multiply numbers together

using column multiplication, we need to make sure

that we are able to lay the question out correctly to
ensure that we get the right answer.

36
8 X
288
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When we multiply a number
which goesto 1 or 2
decimal places, the process
Is very similar: we just need
to make sure that we are
still laying the problem out
in the correct way. Make
sure the decimal pointis in
the same place throughout
the entire calculation
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The same goes for when
we are multiplying by a
number that goes to two
decimal places



3:0 F
1 8. X
2 933 6
2 9 S
3 6.7 B+
6 6.0 6

When we have to multiply a
number that goes to 2
decimal places by a
number with 2 digits, the
process is very similar to
normal column
multiplication.

We just need to make sure
the decimal point is in the
same place consistently.



